
petal_length <= 2.45
gini = 0.656
samples = 95

value = [50, 61, 39]
class = l

gini = 0.0
samples = 31

value = [50, 0, 0]
class = c

True

petal_width <= 1.75
gini = 0.476
samples = 64

value = [0, 61, 39]
class = l

False

petal_length <= 5.05
gini = 0.163
samples = 41

value = [0, 61, 6]
class = l

gini = 0.0
samples = 23

value = [0, 0, 33]
class = a

petal_length <= 4.95
gini = 0.033
samples = 37

value = [0, 59, 1]
class = l

sepal_length <= 6.05
gini = 0.408
samples = 4

value = [0, 2, 5]
class = a

gini = 0.0
samples = 35

value = [0, 56, 0]
class = l

petal_width <= 1.6
gini = 0.375
samples = 2

value = [0, 3, 1]
class = l

gini = 0.0
samples = 1

value = [0, 0, 1]
class = a

gini = 0.0
samples = 1

value = [0, 3, 0]
class = l

gini = 0.0
samples = 1

value = [0, 2, 0]
class = l

gini = 0.0
samples = 3

value = [0, 0, 5]
class = a


